05925

209042
600022 60902
88302

883021  2097°

632026J

3" EZClean Nail Spotter

NSO3TT TapeTech ' on AW +reorores

PROFESSIONAL DRYWALL FINISHING TOOLS

A

Updated Aug-2018

10f2




NSO3TT

Part Number |Description Quantity Each
059057 |Screw 4-40 x 3/16 Bind Hd. S.S 2
059225 |Nut 10-32 Elastic p)
209042 [#10 Brass Washer 1
209755 [Screw, 6-32 x 1/2 Flat Hd 2
359005 |Screw: 6-32 X 1/4 Bind Hd. 4
509008 |Screw, 10-32 X 1/2 Bind Hd S.S. 1
600022 [Connector 2
632026 |Spring, Nail Spotters 2

602029F |Rivet, Special 1
602035 [Adjustable Stop 1
602045F |Special Washer 1
609008 [Screw 4-40 X 1/2 Flat Hd. S.S. 1
609011 [Screw, Rnd. Hd.S.S. 3
609012 [Stopnut4-40S.S 1
609015 ([NutBlock 1
609018 [washer (Plastic) 4
609020 |Friction Washer 1
609048 |4-40X3/8 Flat Head S.S. Screw 1
609049 [Serrated Hex Flange Nut 5
609050 |[Screw,6-32 X 3/32 Slotted Rd Hd 5
639020 [Plastic Washer 1
650005F |Blade, Carbide, 3" N.S. 1
650007 (3" Skid 1
650040 [Special Washer 1

Part Number |Description Quantity Each
654036 [Blade Clamp Assy 1
680002 [Latch,3"N.S. 1
680009 (3" N.S. Facing 1
680010 (3" Hinge Block 1
681015 |3"N.S. Wiper 1
680030 [3"N.S.Insert 1
684028 [3" Press Plate Assy 1
688001 (3" Easyclean Nail Spotter Body, No-Logo 1
883021 |NS Adapter Jam Nut 1
883022 |Ns Adapter 1
883023 |[NSAdapter Clamp 1

| I I ﬁ
PROFESSIONAL DRYWALL FINISHING TOOLS '





